A Ot & EFTIR)

SH2FE12818[E
BITH% Bt 4 H& st HER
JIEH X /N ET 1,028 1,060 2,088 913
JI 5 0 0 0 0
JNg—T B 293 278 571 262
NBE=TH 298 278 576 260
NK=TH 237 243 480 204
JINGET B 190 205 395 150
EEEMR 10 56 66 37
/@ X/ NET 1,828 1,984 3,812 1,861
R/ 18 76 94 94
H/##—TH 348 387 735 351
E/#_-TH 501 503 1,004 492
F/#H=TH 544 578 1,122 509
H/#HMUTH 417 440 857 415
P X /NEE 220 283 503 285
¥ 220 283 503 285
A X /T 4,303 4,481 8,784 4016
#BEEE—TH 1,142 1,058 2,200 1,086
#HEAAE-TH 1,425 1,509 2,934 1,261
#BEAS=TH 1,440 1,540 2,980 1,325
#MEAEMNTH 296 374 670 344
FKHETHEX /NET 2,731 2,306 5,037 2,662
X¥ET—TH 1,110 1,037 2,147 1,081
XET—TH 1,621 1,269 2,890 1,581
XET=TH 0 0 0 0
ko B X /ET 3,253 3,113 6,366 3,028
#yE—TH 644 662 1,306 646
¥ByrE=TH 838 847 1,685 760
#yE=TH 391 361 752 357
HoyEMTH 626 540 1,166 548
#ZyERTH 754 703 1,457 717
ESE =¥, 540 505 1,045 495
EN-—TH 117 128 245 108
EJN=TH 423 377 800 387




A Ot & EFTIR)

SH2FE12818[E

BITH# Bt 4 H&E HER
ET R /ET 2,049 1,995 4,044 2,065
EXRFE—TH 1,059 1,052 2,111 1,035
EXRF=-TH 958 909 1,867 1,008
EXRE=TH 32 34 66 22
PR X /T 1,693 1,719 3,412 1,611
FE—TH 777 819 1,596 793
PE-TH 312 343 655 295
FE=TH 604 557 1,161 523
P X /NET 1,866 1,847 3,713 1,589
Ph—TH 424 427 851 368
FHR=-TH 638 617 1,255 543
FH=TH 525 519 1,044 460
P TH 279 284 563 218
PIINEH X /NG 2,096 2,106 4,202 1,759
FmxE—TH 675 674 1,349 573
FMmMEZTH 519 553 1,072 480
FME=TH 502 484 986 374
FmEMTH 400 395 795 332
P X /NET 1,487 1,374 2,861 1,162
PHE—TH 700 663 1,363 571
FE_TH 412 349 761 308
FHE=TH 375 362 737 283
WERTHh X /NET 1,475 1,415 2,890 1,218
NERT—TH 58 48 106 48
WERT=TH 1,018 993 2,011 832
RERI=TH 399 374 773 338
IMEE IR /N 3,101 2,844 5,945 3,068
IMEE—TBE 435 398 833 461
IMEEZTH 763 616 1,379 792
IMEE=TH 678 645 1,323 645
IMEETETH 446 436 882 422
IMEERTH 779 749 1,528 748

&5t 27,670 27,032 54,702 25,732




